BEHN 6/ =8 5kg 5= kg | 1,000 EBE

BHHN == = 5kg & kg 900 EiE

BEHN 8E =8 5kg 5= kg 850 EBE

BHHN 102 = 5kg i kg 800 EE

7 14/16 2 = 5kg 5= kg 900 EBE

71 11kg KR 1A i kg | 3,300 EBE

7Y 10kg KE 1A i kg | 3,100 EiE

Y 8kg KE 1A 5 kg | 2,200 EE

7Y 10/11kg = 1A %8 kg | 1,750 EE

7 8/9kg = 1A & kg | 1,600 EiE

HIA 3kg = I3 1A i kg | 2,400 #

A5 A 3/4kgE =N 1A 5= kg | 2,200 #

hIRF 3/4E BIRE | 4/5kegd 78 kg | 1,600 EE

< B 3B i don] 5/5.5kg 5 kg | 4400 | # fEH AWI10%E HEHIC
£ B 4 GEdon) 5/5.5kg i kg | 3,900 | # BEH ARWI10F HEHIC
< B 5 i don] 5/5.5kg & kg | 3800 | # fEH AWI0FE HEHIC
£ B 6/E GEdon) 5/5.5kg i kg | 3,600 | # BEH A0 HEHIC
VAP 3kgd =i 1A & kg | 2,900 TE BF

VAPN) 2E = 4/5kg 5= kg | 2,300 TE EH

FH 1.5/2kg EL3 1A i ke | 3,800 EiE EX

AXF¥ 2/6kgfiL 55 1A 5= kg | 1,800 EBE

BEA4OY 202 BE 2kg & kg | 1,200

547 232 RE 2kg 5= kg | 1,000

EfEJ—L 5/74% $I3% 5kg 5 kg | 1,600

- TAV [E] L 120g P P 650 B8R

<TH RER 200g P P | 1,250

HHT 150/180g K& & kg | 3,200

=% 20/40g =) & kg | 5,800

HA3LE 300/450g 5 & kg | 4,000

2/1\18 30/40¢g FE & kg | 2,000

tE7HY 20/30g dtiEE & kg | 1,800

BEEHF it dbiEE 500g P P | 4,000

BEfEQF i itiEE 500g P P | 5500

EfEHF b JtiEE 500g P P | 6,500




